oy
‘variety of products: bottles,
containers, trays; shortly every
transport in production halls in vir

.;.H




Bl As the handling specialist in the field of conveying, the Hanjun product portfolio is providing solutions for complete
lines in several industries in order to improve productivity.

B In beverage industry palletizers, depalletizers, washers,labelers, fillers,
pasteurizers, inliners, outfeeds,elevators and accumulation tables are
equipped with slatband chains, curves,sprockets, belts, bearings,

leveling elementsand many more conveyor components.

B For the container manufacturing industry special products and
materials are available, such as abrasion resistant polyamide

for glass plants, vacuum chains for can making and gripper
chains forvertical transport.

B A wide range of products is also offered for blanchers,cookers,
washers, coolers and processing linesin fruit, vegetables,

bakery, confectionary etc.And many more products are

available for the handling of packed food.

B In automotive industry the products are engineered to

Meet the most demanding applications, such as rubber
Processing and tire handling.

B This is just a short selection of the applications in which
Hanjun products are being used. Among others they
Have also found their way into pharmaceutical

production lines,battery manufacture, paper

and cardboard production.




o Dongguan Hanjun Plastic Product Co.,Ltd
[P




The product line can be split up into:

B Chain guide componets

M Product handing components

B Frame support components

H Supportlng and leveling elements

W Self-aligning bearings o
W Mi ] ine contppi

J

Lo
i
i




H174 Cross Clamp

“ Order Number

12 H174-12
14 H174-14
15 H174-15
16 H174-16
18 H174-18 Holn
20 H174-20

|

anEEa
Number

12 10 H340-12

150mm

30

O
Number

12 10 H341-12

H339 T Clamp

38.5

“F L i "
. - L4
N El F"J RS
.Ll_ '|6.5
-] |d| B | Order Number |
12 10 H339-12
o 1A Jran\
8 1 )
40




H587 Cross Clamp Round Hole

/]

H142 Support

plate
pT.ﬁ
&) ¢¥3
] Ci;f ]




H257 Plastic Adjustable Brackets

I Adjustable bracket

53 64
Order Number
renc

% ! 12 H257-12
N 14 H257-14
16 H257-16

32,5

H107 Plastic Adjustable Brackets

W Bracket with eyebolt
With knob With nut
66

50

Wrench 19

12 H107-12
8|2 3 ¥
of (|22 hEl
<+ ‘ M~
o la
S 64

H617 Plastic Adjustable Brackets

I Bracket with eyebolt
65,5

s L NS
Wrench 19
. i 16 H617-16




H175 Internal Teeth Five-star Hand Screws

N
AN
I- > ‘V‘J .‘.‘I order Number _—
— 72NN

©| :1‘ .‘Ff' | H175-M5 M5 25
7?'»"‘ | H175-M6 M6 32

I" b . H175-M8 M8 40

H175-M10 M10 50

H176 External Teeth Five-star Hand Screws

H176-M5*25 10. 15. 20. 25

H176-M6%*32 M6 32 10. 20. 25. 30 23
H176-M8*40 M8 40 20. 25. 30. 35. 40 28
H176-M10*50 M10 50 25, 30. 35. 40. 50 33

Hand Screws

H177-M6

H177-M8 M8 40
H177-M10 M10 50
H177-M12 M12 63

H178 External Teeth Seven-star Hand Screws

- I O

o\ H178-M6*32 10, 20. 25. 30
/)
=
v ol = H178-M8*40 M8 40 20, 25. 30. 35. 40 28
| |
\ "‘ u“ \‘I
' H178-M10*50 M10 50 25. 30. 35. 40. 50 33
|
H178-M12*63 M12 63 20. 25. 30. 40. 50 38



H182A Tightening Knob

f i 6 H182A-6
_ =
<+
8 H182A-8
\ j
10 H182A-10

6 8 H185A-6X 8

' 6 14 H185A-6 X 14

@ 3 8 10 H185A-8X 10
26 ] 8 16 H185A-8 X 16
10 12 H185A-10X 12
10 18 H185A-10 X 18

12 H183-12

H185 Tightening Knob

L 50 10 12 H185-10X12
10 18 H185-10X18
= 3
12 14 H185-12X14
12 20 H185-12X20




H181 Turning Joint screw

/\52‘0.5
'—'@_. } e

S= 5

H255 Swivel Head

Assembly of part.255
Applicable to brackets part:193.
107. 257. 617

5 ISAN N
- (Eﬂ <] gk
v ‘_7' i ' }Sﬂ& :T
7¢ M10 (Eg) o
e 2 30
Ul 036
[
12 H255-12
14 H255-14
16 H255-16
H256 Swivel Head
- . M10
J‘__

45

48
15Max
\-
R
2.5 20

nnt
Al ,
\77_/ _i;f’

M10X30 30

12 48 H256-48-12
14 48 H256-48-14
16 48 H256-48-16

]
s/
] —S
—od
D
L Part. 193
é_/\/—
Assembly of part.256

Applicable to brackets part:193.

107. 257. 617 (in combination

with knob part183).

g ) Part. 183
14

M10 x 30

20

Part. 193

10




H159-12 The Round End Pipe Clamp

25x8

24,5
dg

5,5
35,5

‘:Sg\\ l

20

12 12 H82-12A




H210 Square Guide Rail Clamp

M5

v _

L~

Nz
E
| 28.5 _W

[ | —— l-fE 54—‘

% %

L) 1
b (S

12



H71 Double Round Guide Rail Clamp

- Order Number

12 H71-12

16 H71-16

n Order Number

12 H71-2 -12

16 H71--2- 16

11100

| Z _

I -
Y/ O = ] 12 H213 - 12

— } 16 H213- 16

‘ {772

56 | |21

25

A
\

13




Plastic Assembled Brackets/Support Guides
(H183+H107+H71-1)

s

Plastic Assembled Brackets/Support Guides
(H183+H256+H193+H71-1) l_

Plastic Assembled Brackets/Support Guides
(H183+H256+H193+H210)

Plastic Assembled Brackets/Support Guides
(H183+H107+H82-12)

14




Plastic Assembled Brackets/Support Guides
(H183+H256+H193+H82-12)

Plastic Assembled Brackets/Support Guides
(H183+H617+H71-2)

Plastic Assembled Brackets/Support Guides
(H183+H617+H71-1)

15



Plastic Assembled Brackets/Support Guides(H183+H107+H71-2)

1

Plastic Assembled Brackets/Support Guides
(H183+H256+H193+H71-2)

16




HJ0030-1 Shaft Sleeve HJ0030-2 Shaft Sleeve
Fixed for Square Hole Fixed for Square Hole

T

HJ0030-1 40*40

50*50 15 95
HJ0030-2

60*60 15 110

Material:PA Black,screw is stainless steel.

HJ0031-20

HJ0031-25 25 40 M4 14
HJ0031-30 30 45 M4 16
HJ0031-40 40 68 M5 16

Material:PA Black,screw is stainless steel.

17



H567 End Transfer Module(with lip)

oll 126
Fee e

| & L 25,2 L
BReIR] =
s Part. 567 Part. 567
LAt

]

ﬁ Screw M5
421

676 11
85

555

L 25,2 25,2 L
Screw M5 B __Part. 567 JPart. 567__

===

o1l
\ EIQ‘J
©

214 || 11

67,6 21
85
//'_'
4
/!
( |
W
1\
R
-?:
2
U"!
O‘>
CO
\

252

= L 25,2 L
2 Part. 569 part. 569

36,7

18




825 25
| ]
H73 Roller e =L
_21.5
15
| d_|order Number s
h 12 H73-12 —— T '
16 H73-16 T H K
_ 'UT 10 18 H73-18 Lo Lo
r S 20 H73-20 T = /
Part.73 Part.125 Part. 126
r
_______________________________________________ 50 88 50
825 55 | i
| M
[ ]_J 1 Ml l!
Ol | orcer Number
12 H126-12 _4
& 16 H126-16 —+— ||
18 H126-18 R T p——
BT H126-20 1| I
; ]
Part 73 /Par?rzia /Par‘t 126
H125 Double roller —+— 91T
1 [ 1
| ) J H } ' ] }
n Part. 73 ] Part.73 /Par‘t 126
- 16 H125-12 ’
] i 50 88 50
18 H125-18 - o o e "
20 H125-20

Part.556

16
18
20

H556-16
H556-18
H556-20

EEENFEA
Number
[{=




H11 Roller

F | H | 4 Order
I ' ! "UT 8 Number
50 88 50
20 82 H11-20*82 . - - -
87 1
T T
L | [ u\i T ] T \

H388 Roller —OH [T

Il Part.388 |Part. 126 Part. 388
o o
Lo
Al
5% 20 H388-20
2715
50 85 50
-t -t -
———————————————————————————————————————————————— 82,5 25

A=l [l T——=7]
H555 Guiding Flange for Part -

| df | Order Number | 1
20 H555-20 U | Part.556 Part.554
| Part. 555
50 83,5 50
e
825 1

R —
H554 Roller L T

Df
2 60

20 H554-20

[
Il 1 1 [ | I I‘l
‘ }

Part.556 Part.554

20




H280 Bearing Head for Tubes

s
il




H615 Plastic Tripod for Round Tube

81

/7,

@ 490

@

d standard size:48.0mm ;can cut to 50mm

H618 Plastic Bipod Support Bases for Round Tube-- |

D
-
o

{m/" |

452
d=48 _|
| e
495 -
o= IR :E
il

d standard size:48.0mm ;can cut to 50mm

54

%I: %..{ ; F
[« e _.-_.-._.-
i -t ‘£
35] & &
85
145

d standard size:48.0mm ;can cut to 50mm

22




H224 Expansion Plug for Square Tubes

Order Tubing load-
mm

H224-40-16 M16 140 0.670

H224-50-16 M16 0.105
0 50 2.0 1000

H224-50-20 M20 0.112

H180 Expansion Plug for Round Tubes

Order Numbe el Thickness exE
outer dia bearing

H180-32-16 M16 0.082
1000
H180-50-16 M16 050 0.091

23




Bearing Block Series

HJ0100 Plastic Square Bearing Block

Material:PBT
Color:black . White.

86

HJ0100-204 20
HJ0100-205 25
HJ0100-206 30
HJ0100-207 35
HJ0100-208 40

95
107

118

130

Green

63.5
70
83

92

102

13.4
143
143

15.5

17

27.8
28.5
315
34,5

36.5

11
11
11

13

31

34
38.1

42.9

49.2

12.7 16.3
14.3 17
15.9 19
17.5 21.5
19 23

Material:PBT
Color:black . White.

Order Number “

HJ0101-204

HJ0101-205

HJ0101-206

HJ0101-207

HJ0101-208

20

25

30

35

40

113 90 65 13.4 26.5 11 31 12.7 15

131

147

164

178

Green

99

117

130

144

70

80

90

100

143

143

15.5

17

28

30.5

32

35

11

11

13

14

34

38.1

42.9

49.2

143 16.5
15.9 18
17.5 19
19 21.5

24



IS

B

Material: Austenitic Stainless Steel .
Cast Iron. Zinc Aluminum Alloy

Order Number “

HJ0102-204

HJ0102-205

HJ010--206

HJ0102-207

HJ0102-208

20

25

30

35

40

95

108

117

130

70

83

92

102

13

13

15

15

27

31

34

36

12

12

14

16

HJ0102 Stainless Steel Square Bearing Block

34

38.1

42.9

49.2

143

15.9

17.5

19

86 64 11 25.5 12 31 12.7 15

16

18

19

21

Material: Austenitic Stainless Steel .
Cast Iron. Zinc Aluminum Alloy

Order Number m

HJ0103-204

HJ0103-205

HJ0103-206

HJ0103-207

HJ0103-208

20

25

30

35

40

113 90 60 11 25.5 12 333 12.7 15

130

148

161

175

99

117

130

144

68

80

90

100

13

13

15

15

27

31

34

36

16

16

16

16

35.7

40.2

44.1

51.2

14.3

15.9

17.5

19

16
18
19

21

25



H97 Stainless Steel 304 Adjustable Feet

8 5.5 6.5 13

(Coarse 38 : ' 11 1.6
M ) 10 7 8 17
- —
ol =3 - C ) 12 60 8 10 18 19
= (£2) 16 10 13 24 20
t J P 75 20
ek A l.!L. 20 13 16 30
L
M-A
8-50 68.1
8-100 118.1
10-75 94.6
ot 10-100 119.6
12-50 78
12-75 103
12-100 128
12-125 153

26



Articulated Adjustable Feet ( Base in Nylon with

Rubber Pad)

H98 Articulated Adjustable Feet

Type Order Number Dla‘;fmms)crew Lengti(ﬁ) Scrow Material of Screw Load-bearing
HO8-M10%50 50
HO8-M10:80 M10 80
HO98-M10%100 100
H98-M12%50 50
H98-M12%80 M2 80
H98-M12%100 100
H98-M12%150 150 Carbon Steel Nickel

$ 60 |H98-M14*80 Mi4 80 Plated;Stainless 1000kg

H98-M14*100 100 Steel 201/304
H98-M16%50 50
H98-M16%80 80
H98-M16%100 MG 100
H98-M16%120 120
H98-M16%150 150
H98-M16%200 200

H172 Articulated Adjustable Feet

- M
—
. D
<t
< S e
_}E = )
cu[ Lﬁ @®80 |

Dia. of Screw

Length of Screw

Type Order Number W () L (um) Material of Screw Load-bearing
H172-M10%50 50
H172-M10%80 M10 80
H172-M10%100 100
H172-M12%50 50
H172-M12%80 80

M12
H172-M12%100 100
H172-M12%150 150 Carbon Steel Nickel
&80 |H172-M14%80 M4 80 Plated;Stainless 1000kg

H172-M14*100 100 Steel 201/304
H172-M16%50 50
H172-M16%80 80
H172-M16%100 W16 100
H172-M16*120 120
H172-M16%150 150
H172-M16%200 200

H133 Articulated Adjustable Feet

M
= ~|
=
‘ ,
= | | 2-912.5
T P
ol —— | |
0| s
| T ]
T 11 {
&l 74
‘ ®100

Dia. of Screw

Length of Screw

Type Order Number M () L (um) Material of Screw Load-bearing

H133-M14*80 80
M14
H133-M14%100 100
H133-M16%50 50
H133-M16%80 80
H133-M16%100 M16 100
HI33-M16+120 120 Carbon Steel Nickel
& 100 [HI33-M16%150 150 Plated;Stainless 1000kg

H133-M16+200 200 Steel 201/304
H133-M18*80 80
H133-M18*100 M18 100
H133-M20*%100 100
H133-M20150 M20 150
H133-M20:200 200

27




Articulated Adjustable Feet ( Base in Nylon with
Rubber Pad)

H323 Articulated Adjustable Feet

M

=
- | ; Type Order Number Dia'; (fmS)crew Lengt? (:z)Screw Material of Screw Load-bearing
| 1 H323-M10%50 50
| f 2-d10 H323-M10%80 M10 80
I D | H323-M10%100 100 Carbon Steel Nickel
A == | 380 H323-M12%50 50 Plated;Stainless 300-500kg
Lo i e = ‘ H323-M12%80 i 80 Steel 201/304
1 ‘ 1 H323-M12%100 l 100
T i [ P57 H323-M12%150 150
N
@ 80

28




Fixed Adjustable Feet ( Base in Nylon with Rubber

Pad)

H99 Fixed Adjustable Feet
M

Dia.of Screw

Length of Screw

Material of

Load-bearinJ

| 360

70
(

38

280

H134 Fixed Adjustable Feet

40

Type | Order Number M(mm) L(mm) Screw
H99-M8*50 50
M8
H99-M8*80 80
H99-M10*50 50
H99-M10*80 M10 80
H99-M10**100 100 Carbon Steel
H99-M12*50 50 Nickel
®60 | H99-M12*80 80 Plated ;Stainl| 1000KG
N M12 ess Steel
H99-M12*150 150
H99-M16*100 100
M16
H99-M16*150 150
Dia.of Screw |Length of Screw| Material of Load-
Type | Order Number M(mm) L(mm) Screw bearing
H173-M12*50 50
H173-M12*80 80
M12 Carbon Steel
H173-M12*100 100 Nickel
®80 , Plated ;Stainl| 1000KG
H173-M12*150 150 ess Steel
H173-M16*100 100 201/304
M16
H173-M16*150 150
Dia.of Screw [Length of Screw| Material of .
Type |Order Number M(mm) L(mm) Screw Load-bearan
H134-M16*100 100
H134-M16*150 M16 150
H34-M16*200 200
H134-M20*100 100
H134-M20*150]  M20 150 Carbon Steel
" Nickel
@100 |H134-M207200 200 Plated ;Stainl| 1500KG
H134-M24*100 100 ess Steel
201/304
H134-M24*150 150
M24
H134-M24*200 200
H134-M24*250 250

29




H212 T bolt clamp with tightening knob

HT01422 Half of the Gasket

30




H3633 Hinge

60

34
N EN
N2 S/
|
I P
Y N2
76,5
@ (_\ 0
I/

H3634 Hinge

80 .
. 50 ‘ - 80
. K 495 _
A
’ 5 (&)
. >
B Y " _@ @
1

H3635 Hinge 10

A

7\
-

102
102
72,5

H121 Enclosure Handles,Components

|
W

' |
i : | 43
: |
: i v
w 190 Z\-b‘?.&L 26
e >

136 )

31




H122 Enclosure Handles,Components

32



H59 Lock

I:IIT -22 @:@T’O

27
38

N
J

H338 Mounting Plate

i
k=

H336 Modular Nose - Over Bar

H L180 Drip Tray Support

VRN
@\’0 __.Q_Qv
[ Order Number

19 22

y a4 1
- = ﬁ*

180

HL 180 180 SUS304

5




H L250 Drip Tray Support

g

250

3

4
v, &
Order Number

2

,@_39 H L 250 250 SUS304

H L280 Drip Tray Support

0

280

Order Number

3

HL 280 280 SUS304

180

83

1L

34

N
175

35

70

<

Order Number

Pl

HL180-13 280 SUS304

34



H L 250 -13 Drip Tray Support

@4

@ Order Number

2

H L250-13 250 SUS304

Order Number

22

HL280-13 280 SUS304

. 280
5
0

@ k&l

L o | 183

T 1

%\
=}
= "

Order Number

H L 180-27 SUS304

35



H L 250 -27 Drip Tray Support

e

# X@ Order Number

\ - 22-
1|1_' I

n 3 H L250-27 250 SUS304
|

Order Number

ﬂ H L 280-13 280 SUS304

Flexible Conveor Chain Dedicated Removal and ilstallation
Tools

36



H J1015-A Stainless Steel Support

)

73

M10~ Tl

H L70x70 Stainless Steel Side Bracket

70

@ _

Length
Order Number
(Lmm)

HL70*70*3 70*70 SUS304




HJ0200 Stainless Steel Side Bracke

7395

45

10.5

N/

L 154 JJ._._:I

70
7
r “\ /Z/J 1 | 74
r./" [ip)
=
= . i —— |
= = B 19.5
./ i
~ g
34 3
40 14

HJ0222 Stainless Steel Side Bracket

140

22 1.2
| Y s o o e § ZTT i T 7777 AT ! =z
! 10.5 f; 19.5 365 395
o o — e e —— ———  —
~ L
| S %
— S
i ~ iocre
34 -
40 14

38



HJ0203 Stainless Steel Side Bracke

R I 73 ] I yi | vI/
(T 7 A

| i |=> 4=y o
, o i f 1 39 1
@ |l ®
N At
*j 24 - 3
30 14

HJ0806 Stainless Steel Side Bracket

HJ0807 Stainless Steel Side Bracket

-n:_;[ﬁ-/f_}_‘

39



HJ08 Stainless Steel Side Bracke

]
% ‘#3]4

~—40°

32

20 @
E
W
t
[

Bo—=
F?U"I —
Ay
A .
q F
o
i

40
~

rd
|
\0
15
41,75
l—46.3—

J:) oy gl |' 15 !’u‘
.

20

78.5 o

40



Stainless Steel System Support Component

Stainless Steel Foot

171

S

The transmission device support component is
composed of a stainless steel tube, a connecting
plate connecting the beam body and a beam
support frame.

Two-point or three-point reinforced nylon brackets
with connectors can be provided for the
transmission device support of all system widths.
The bracket device has threaded bushes and non-
slip joint feet with adjustable height. In addition to
increasing friction, it can also reduce vibration.
First select the appropriate joint foot length to
achieve height adjustment of 30-100.

P

[CIIT

22 (D
H

—

Stainless Steel Bracket

- 106
66 34 3 i
B o B ¥
i D | @ b | & 1 °.°
3 T 3 T 22.5 i :—w—-
225 4-09-4s | 22.5 4-09-7 | Tﬂ; 1[- ol -
115 | L34l N 7 ”
148 | v - e | N
148 !
ZLCTX63 ZMCTX83 ZHCTX103

41



Metal Side Bracke
H65-64

[
J

100
114,

[5
(o s i) IT1 TTT I _ _ _ i
L—39.5—-| J
H65-64
.
— L]
.*25‘.' !,_,_44__]
J OS] N )
o
[ s——

i
&
348
80
5

|

£
y 7| ~agsk

20

42



Metal Side Bracke

H85-804
AT
i
N
e @
"I 29.5 = -

r'27"' e [E—
['ITI 1?]
— | [
h 147

La36~

235

43



Right Angle Bracke
H40-40

44



sﬂ Dongguan Hanjun Plastic Product Co.,Ltd
P

Attn:Fiona guo /Dave Zeng
Tel:+86 0769-83287582
Mobile: +86-188 2550 3509 /+86 188 2680 8729
Fax: +86-0769-83287582
Skype:+86-188 2550 3509 /+86 188 2680 8729
WhatsApp/WeChat:+86-+86-188 2550 3509
+86 188 2680 8729

E-mail: Fionaguo@dghanjun.com /dhp@dghanjun.com
Alibaba Website www.dghanjun.en.alibaba.com
Website: www.dghanjun.com
Add: Shilata industrial Park,Liangbian,Liaobu

Town,Dongguan,Guangdong,China.
Postcode:523403




